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« MELEWAIRE: Imsys.org

e OpenAl 2T): GPT 40, GPT 40-mini, o1-preview, o1-mini
* Anthropic 25]: Claude 3.5 Sonnet

« Google 2E]: Gemini Experimental 1121

e BXTFIg: Qwen 2.5 72B Instruct, QwQ 32B, etc.

e SREKZE: deepseek-coder, deepseek-math

o« EE: GLM-4-Plus

o REAFFEIERIZTI Meta Llama: Llama 3.2 90B
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» Reflection (FE2RHFEBCBE#»I8EN)

» SLEHFESXBMRIGIE:

* 1. Chain of Thought: “Let’s think step by step.”

* Chain-of-Thought Prompting Elicits Reasoning in LLMs. (2201.11903, Google)
« 2. Few shot: /~3B

 Language Models are Few-Shot Learners. (2005.14165, OpenAl)
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Numpy
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- RZEMEEITEERER C/C++ XY, AAENTATUSRERIVITRERE
« BEEMEEITER? ATUE CuPy (EFCUDAEI, cuBLAS, etc)

o« (BTEUREZEFHRIE, CuPyrJgEEIE)



import numpy as np

a = np.array([1, 2, 31)
print(a.shape)

print(a)

print(type(a))

b = np.array([[1, 2, 3], [4, 5, 6]])

print(b.shape)
print(b)
print(b[1])

print(b[1, 1]1)

print(np.zeros((2, 2)))
print(np.ones((1, 2)))
print(np.full((2, 2), 7))
print(np.eye(4))
.random.random((2, 2)))




demo

a = np.array([[2, 2, 3, 4], [5, 6, 7, 81, [9, 10, 11, 12]])
print(al:2, 1:3])

print(al:, 3:1:-1])

b = a[:2, 1:3]

b[O][O] = -106

print(a)

a =[1, 2, 3, 4]
b = al[l:3]

b[O] = -10
print(a)

a = np.array([[21, 2], [3, 4], [5, 6]])
print(al[0, 1, 2], [0, 1, 0]11)

al[o, 1, 2], [6, 1, B]] -= 50
print(a)

b = a > 2
print(b)
print(alb])




X = np.array([1, 2])

print(x.dtype)

X = np.array([1.0, 2.0])

print(x.dtype)

y = np.array([10.0, 12.5], dtype=np.int64)
print(y.dtype)

print(y)

print(x + y)
print(x - y)
print(x * y)
print(x / y)
print(np.sqrt(x))
print(np.log(x))

x = np.array([[1, 2], [3, 4]11)

y = np.array([[5, 6], [7, 8]])

print(x * y)

print(x @ y)

print(np.array([[1, 2, 3]]) @ np.array([1, 2, 3]))

print(np.sum(x))

print(np.sum(x, axis=0))

print(np.sum(x, axis=1))

print(x.T)

print(np.array([[1, 2, 31, [4, 5, 6]1]1).T)
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Playwright
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import json
import os
from playwright.async_api import async_playwright

async def run(page, k):
url = f"https://loj.ac/s/{k.__str__()}"
await page.goto(url)
await page.wait_for_timeout(8000)

code_text = await page.query_selector_all("._codeBoxContent_122zh_12")
status_text = await page.query_selector_all(".statustext")

if len(code_text) == 0 or len(status_text) == 0:
return None

status = await status_text[0].inner_text()
code = await code_text[0].inner_text()

if status.strip() == "Accepted":
return code

return None

playwright = await async_playwright().start()
browser = await playwright.chromium.launch(headless=False)
page = await browser.new_page()

with open(f"./data/codes.jsonl", "w", encoding="utf-8") as f:
for k in range(2196563, 2196613):
result = await run(page, k)
if result is not None:
f.write(repr(result))
f.write("\n")

await browser.close()
await playwright.stop()




